[]

1/c do/dB" .

Ratio to OPAL

min
= =
o o
N iR =

-
o
@

1074

0.5

C)

133 GeV ee

m OPAL
---=-- Pythia 6.428 359
—A— Pythia 6.428 370
Pythia 6.428 a
---¥-- Pythia 6.428 dw
—o— Pythia 6.428 p0
----- x-- Pythia 6.428 pro-g20

v*/Z (Hadroni

Rivet 3.1.10, = 2.6M events

IIII|IIII|||||_|_ IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

IIII|IIII|IIII_|_ IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|_

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


